l D/l DRSeries




Notes of product ordering

W R HE R A ET B8 A BA

ID series

Precision Planetary Gear Boxes

Rotio/if i Lk i=3:1~100:1
Backlash/[E 2 & < 2 arcmin
Output torque/E§ % ~ 2,000N.m
Frame size/#& 3 8E ID 047~|D 255
ordering code 5] & {6/ G545 i 5% AA
ID 90 Lz - 32 - P2 |- S2 - MOTOR
MODEL  SIZE | STAGE Ratio| Wbk | Backlash Output Input
mAAM MR EEUAR Li: W L RS R h R
047 Li: 16/ 3.4.5.6.B.10 Pa: I E'EI' gt‘nnd Iﬂﬂ_ﬂﬂ s EEE
L=: : apecial require =
g:: La: 20074 g9.12.15.16.19. ' WE A RER B, BT
g | L3R 20.24.25.30.32. P:: Wit EEEREL S
o | L AR 35.40, 48, 64 Rt
Em ......
255

IDR series

Precision Planetary Gear Boxes

ordering code

MODEL
LA 1R )

90

S|1ZE
S
047
DG4
080
110
140
200
255

Rl B RS/ B SRR E R R

A

Lz

STAGE
BB

L1z
La:
La:
La;

1R/
2B
IR
AR

Rotio/i# i Ltk i=3:1~-100:1

Backlash/[] 5 & & < 4 arcmin

Qutput torque/§ 45 ~ 2,000N.m

Frame size/## 858 IDR 047~IDR 255

32 - P2 |= S2 - MOTOR

Ratioi Rt i Backlash Cutput Input
L+s L1 i el RV EE s BRI
3.4.5.6.8.10 Po: EEE 52: Stand ¥EHEAT T
Lz: . ST: Special require N P
9.12.15.16.18,  |F': W¥& PR E B, BRI
20.24.25.30.32. P WA B A
35,40, 48, B4 R



B IEB AT TR

R
g e | e D047 DoB4 [DOS0 D100 D140 D200 D255
4 19 48 130 270 560 1,100 1,700
5 22 &0 160 330 650 1,200 2,000
1 7 19 50 140 300 550 1,100 1,800
10 14 40 100 230 450 000 1,500
20 19 48 130 270 560 1,100 1,700
25 20 G0 160 330 650 1,200 2 000
35 19 50 140 300 550 1,100 1,800
BB 714 T2n Nm 40 17 48 130 270 560 1,00 | 1,700
50 2P G0 160 330 650 1,200 2,000
70 18 50 140 300 550 1,100 1,800
2 100 14 40 1040 230 450 800 1,500
16 19 48 130 270 560 1,100 1,700
21 22 B0 160 330 650 1,200 2,000
at 19 50 140 300 550 1,100 1,800
61 19 50 140 300 550 1,100 1,800
a1 14 40 1040 230 450 00 1,500
%EE;ET?HZL'L MNm 1,2 4100 Eﬁiﬁﬁﬁﬂj J14k
WEE A HENn em 1,2 4-100 5000 [ 5, 000 4, 000 4 000 3,000 3,000 2.000
mAEAESENE fom 1,2 4-100 10,000 | 10,000 8,000 8,000 6,000 6,000 4,000
EREEEPo arcmin ! 4-10 = = =1 =1 =1 = ] =1
2 20100 = = = =3 =3 =3 =3
— ) 1 4-10 =3 =3 =3 =3 =3 =3 =3
M HERe aremin 2 20-100 =5 =5 = =5 =5 =5 =
e s s , 1 4-10 =5 =5 =5 =5 =5 =5
i bl 2 | zo-100 = =7 =7 =7 =7 =7 =7
1858 Mrvarcmin| 1,2 d-100 7 13 31 B2 151 440 1,006
Hez kS $EMawa’ N 1,2 4-100 42.5 125 235 430 1,300 3,064 5,900
R A Fae’ N 1,2 4-100 290 1,050 2,850 2000 | 10500 | 16680 | 20,430
{5 B3\ hr 1.2 4-~-100 30,000"
o 1 4-10 =07%
W - 2 | 20-100 =94%
1 4-10 0.7 1.2 3.0 5.6 11.9 31.6 56,1
Ef kg 5 20-100 1,0 16 3.7 7.3 15,5 36,9 70,4
16-91 1.0 1.4 3.5 6.5 15,9 34.2 67.2
{i iR T 1,2 4-100 —10T-+80T
i i 1,2 4~100 fratiM AR ( NYOGEL 792G )
Prer 1,2 | 4-100 IPG5
LA 1,2 4-100 FRAR
BEE (n1=3000mm E8H )| dB(A) 1,2 4-100 = 56 =58 =50 =63 =65 =67 =70
R
i 0w | S| D047 |DOG4 D090 D100 | ID140 | ID200 |D255
4 0.03 0.14 0.51 2.87 7.54 25.03 58,31
. 5 0.03 0.13 0.47 2.71 7.42 23,29 53.27
B 0.03 0.13 0.45 2 62 7.14 22 48 50,97
10 0.03 0.13 0.44 2 57 7.03 22 51 50,56
20 0,03 0,03 0,13 0,47 2,71 7.42 23,29
25 0,03 0,03 0,13 0,47 2,71 7.42 23,29
a5 0,03 0,03 0,13 0,47 2,71 7.42 23,29
\ 40 0.03 0.03 0.13 0.44 2.57 7.03 22,51
A1 kg - em? 50 0.03 0.03 0.13 0.44 2.57 7.03 22 51
5 70 0.03 0.03 0.13 0,44 2.57 7.03 22.51
80 0.03 0,03 0.13 0.44 257 7.03 22.51
16 0.03 0.03 0.13 0.47 2.71 7.03 23,28
21 0.03 0.03 0.13 0.47 2.71 7.03 23,29
31 0,03 0,03 0.13 0,44 2.57 7.03 22,51
&1 0.03 0.03 0.13 0.44 257 7.03 22 51
a1 0.03 0.03 0.13 0,44 257 7.03 22 51




IR I T g R~F
L1=18 ik Lbi=4~10R~f

Co
L4 5 g CE
L3 L5 _L." 10
L10 x 45° i Wi o
wld '
ok 1E —
= ¢
P o | [ e | ou | = :F_ I ) “J:-“‘ﬁ_'_m =l
561315185/8] | SH-1H-—1=-t-{—+- 18| 88[5
f E i___ ek ___4:___,_
| |
| 1 }}_ !
M e i
ERl =
|II ! -_'"-7"_]__
W —"I E = |—1-g-]%— o ct
ADDS4ADE5 = C4
Bir: mm
Rt D047 |DOB4 |DOS0 D100 D140 |D200 D255
D17 12 20 31.5 40 50 B0 100
D2 20 31.5 50 63 20 125 140
D3 w7 28 40 B0 20 100 1680 180
D4 . 47 B4 =Ty 110 140 200 255
D5 67 78 109 135 168 233 280
D& 4xMIx05P | 7xM5x08P | 7xM&x1P 11 xMEx 1P |11 xMEx1.25P|11 xM10x 1.5P| 12 x M16 x 2P
D7 72 86 118 145 179 247 300
D& 3 5 a8 8 g8 10 12
09 45,5 55 7 90 113 138 175
D10 8x3.4 B % d,5 Bx55 Bx5.5 12 % 6.6 12%x 9 16x 13,5
D11 G0 70 55 120 152 212 255
D12 46,2 63,2 89,2 109,2 139,2 199,2 254 2
L1 4 a8 12 12 12 16 20
L2 5.5 8 13.5 13.5 17 22.5 30.5
L3 3 3 & 5] [ a8 12
L4 19,5 19.5 30 29 a8 50 A6
L5 7 7 10 10 14,6 15 20
L& 4 4 T 8 10 12 18
L7 5 T.7 8 10 12 15 20
L8 18.5 28,5 27 37 A2 §9.5 82
LD 4 6 7 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
c1 4h 70 100 130 165 215 235
C2 1 M4 = 0,7P M5 = 0,8P MG = 1P ME x 1,25P M10 % 1,5P M12x1,75F | M12x1,75P
c3* =11 *=14/=16 =19/=24 =32 =38 =48 =55
C4 1 30 34 40 50 B0 85 116
C5 “os 30 50 a0 110 130 180 200
cs* 3.5 a 4 5 (5] (5] &
c7* 48 B0 a0 115 142 180 220
cg* 19,5 19 17 19,5 22,5 29 63
co* 70 B2.5 899.5 121.5 151 199.5 256.5
c10* 13.25 13.5 10.75 13 15 20.75 53.5
oD S6x2 BE x 2 Q0x3 110 x 3 145 x 3 200 x5 238x5

=
1

Hi-" 5] L R | Vil I! 3 ..-':.'_.u -




RN RE RS

L2=252 ik Lki=20~100 R~

co
L4 LB L8 e
L3 | L5 L¥ _leio
L10 x 45" e G
0 o
&
R P
\ @
P U | g | g | ID i-- -:md:-l-r;::
selesgala [M-1r-—-1T==t=1= 12158 5
e -1 I I | T A
I|'I|_ w"""| i
= s
IIIE E
'III =3 6
f QD =
omrgn — 5 LBR -
ADOEADISS =]
B{r: mm
R D047 | D064 D080 (D100 D140 | D200 D255
D1 w7 12 20 35 40 50 80 100
D2 20 31.5 50 63 80 125 140
D3 nr 28 40 60 i8] 100 160 180
D4 v7 47 G4 90 110 140 200 255
05 67 79 109 135 168 233 280
5 4= M3Ix05P 7= M5 x0.8P TxMB=1P 11=«MEx1P [11=xME=x1.258P(11=xM10x1.5P 12 = M16x 2P
oy [ 315] 118 145 179 247 300
D8 u7 3 5 £ 5 g8 10 12
09 45,5 45,5 53.4 77 102 125 160
D10 Bx34 Bx45 Bx55 Bx55 12 = 6.6 12x9 16x13.5
D114y G0 70 a5 120 152 212 255
D12 46,2 63.2 0.2 109,2 139,2 199.2 2542
L1 4 8 12 12 12 16 20
L2 6.5 8 13.5 13.5 17 22.5 30.5
L3 3 3 5] 5] 5] 8 12
L4 19.5 19.5 30 29 38 50 66
L& 7 7 10 10 14,6 15 20
L& 4 4 7 8 10 12 18
Ly 5 7.7 a 10 12 15 20
L& 54,5 65.5 a0 &7 .5 110 1325 148
L9 4 A 7 7 7 10 10
L10 0,5 0.5 1 1 1 1 1
ak 45 46 70 100 130 165 200
c2° M4 x 0.7P M4 x 0.7P M5 x 0,8 ME x 1P M8 x 1.25P M10x1.5FP | M12x1.75P
3.5 =11 "=11/=12  |"s14/=15875<18| =19=24 =32 =38 =48
Cc4 *® 30 34 34 40 50 &0 85
ChH %as 30 50 50 B0 110 130 180
ce * 3.5 8 R 4 5 B 6
oy 48 48 60 90 115 142 190
Cc8 *® 19,5 19.5 19 17 19,5 22.5 29
co* 97,5 108 134 160 204 248 311.,5
C10°% 13.25 13.25 13.5 10.75 13 15 20,75

0D 56 %2 BE x 2 O0x 3 110% 3 145 % 3 200x5 238x5




IR IME R EE R T

L2=2E8 Riidtki=16,21,31,61,91 R~

[of:]
L4 L8 L8 Ga
L3 |, Lg |7 _|Gio
L0 ¥ 45* LIGY
=
u_ b :
| K‘ ) -@i
) [P B 7] S S I | 2w =
S B IBBIEL | AT N BEEEE
s |
u"IE e Y 1
."I L :
|II = 8l Ca
wprggn — 5 B LBE o4
AD[B4—ADI5S o
B mm
Rt D047 D064 D080 D100 D140 D200 D255
D1 w7 12 20 31,5 40 a0 80 100
D2 20 31,5 50 63 20 125 140
D3 ke 28 40 &0 80 100 160 180
D4 7 47 B4 90 110 140 200 255
D5 &7 79 109 135 168 233 280
B3] 4 = M3 = 0.5F 7% M5 = 08P 7xMGx1P 11xMEx1P [11xMBx1.25P[11 xM10x1.5P| 12 xM16 x 2P
D7 72 86 118 145 179 247 300
D8 v 3 5 & 5] 8 10 12
D9 45,5 45,5 55 77 a0 113 138
D10 8x34 8x45 Bx55 Bxb55 12 % 6.6 12x9 16x 13.5
0114 B0 70 a5 120 152 212 255
D12 45,2 63,2 892 108,2 138,2 199.2 254 2
L1 4 B 12 12 12 16 20
L2 6.5 B 13,5 13,5 17 22.5 30.5
L3 3 3 3] G 8 8 12
L4 19,5 19,5 30 29 38 50 B6
L5 7 T 10 10 14.6 15 20
L6 4 4 Fi 8 10 12 18
L7 5 T.7 g 10 12 15 20
L8 54,5 28,5 32 37 122 79.5 a2
LI 4 6 T 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
C18 4G 46 70 100 130 165 215
0o M4 = 0,7P M4 % 0, 7P M5 % 0.8P ME = 1P ME = 1,25P M10x 1.5P M12 % 1,75F
(75 i =11 *=11/=12 |"s14/<15875/<16 =10=24 =32 =38 =48
C4 30 34 34 40 50 60 85
C5 e 30 50 50 80 110 130 180
Cce " 3.5 35 8 4 5 i 8
cr 48 48 &0 a0 1156 142 190
cs*® 19.5 19.5 19 17 19.5 22.5 29
co ® 100 106 130,5 149 205 247.5 323
c10° 13.25 13,25 13.5 10.75 13 15 20.75
oD 66 w2 110x 3 145 % 3 200 =5 238x=5




IR AT e

A EEE e
R i i IDRO47 | IDROG4 | IDRO9O | IDR100 | IDR140 | IDR20G0O | |DR255
4 19 48 130 270 B&0 1,100 1.700
5 22 a1 180 330 G50 1,200 2,000
1 7 19 50 140 300 B5() 1,100 1,800
10 14 40 100 230 450 Q00 1.500
14 - 42 140 300 550 1,100 1,800
20 — 40 100 230 450 900 1.500
20 18 - - - -
B AET2n Nm 25 a8 il 16101 330 G50 1,200 2,000
35 18 50} 140 A0 550 1,100 1,800
40 19 48 130 270 580 1,100 1,700
2 &0 22 i 160 330 650 1,200 2,000
70 19 50 140 300 550 1,100 1,800
100 14 40 100 230 450 Q) 1.500
140 £ b 140 300 550 1,100 1.800
200 - - 100 230 450 Q00 1.500
BEHETnoT Mm 1,2 4-200 AR e
B A NN rom 1,2 4200 5,000 5,000 4,000 4,000 3,000 3,000 2,000
B EEN e rpm 1.2 4200 10,000 10,000 8000 B.000 6,000 6,000 4,000
2 25200 = — =4 sz =4 =5 == ]
; 1 420 =4 =4 =4 =4 =4 =4 =4
ﬁ 1 r_'.-l ancrmun
WEH 2 PE-200 =7 =7 =7 =7 =7 =7 =7
1 4-20 =0 =6 =6 =B =8 =6 =6
BT EPe aremin
2 25-200 =9 =0 =0 =0 =0 =9 =0
MR Mmiarcmin 1,2 4200 7 13 a A2 151 440 1,006
i o i S 4EMee® M 1,2 4-200 425 125 235 430 1,300 3,064 5,800
BEME N Fm” M 1,2 4200 1.080 2.110 2310 4 8O0 & 200 & 450 10,600
EESG fe 1,2 4200 30,0007
1,2 4-20) =05%,
$H# %
1 25-200 = 02%
2 4-20) 1.1 2.1 5.9 10,5 21,5 50,8 B5.4
EE LAY :
1 25-200 1.4 1.9 4.5 9.8 20,1 45.4 8549
{E FiE L 2 4-200 —10C-+50C
=il 1,2 2000 S el mvilie [ NYOGEL 792D )
W 1,2 4-200 |P&5
Eﬂﬁr‘ﬂ 1,2 4200 ":.EE?-“TI‘EJ
BEE [ n1=23000mm S8R | dB{A) 1,2 4-200 = B =/ =GR = BE =70 =72 = 74
BREEETIEE
FEE gl | R’ | IDRO47 | IDROB4 | IDRO20 | IDR100 | IDR140 | IDR200 | IDR255
4—10 0.09 0,35 2.25 6.84 23.4 58.9 135.4
14 13 0,07 1.87 5,25 21.8 65 .6 1189.8
1
20 - 0.07 1.87 6.25 21.8 65.6 119.8
HEEE kg - cm?
20 0.09 — S L2 A — —
5 25-100 0,09 0,09 0,35 2,25 &84 234 68,9
140-~200 — — 0.31 1.87 B.25 21.8 65,6




BIREIME L EE R~
Li=1E itk i=4~-20R<f

LR
L4 L&
L3 [ LS
L0 x 45*
Caa H 1
S| |
?%
P o3 | = |V ey e,
SB BB R
,n"|—
EN /fi
.' o\ i r
———— =l IEELL?: | . 2
|50 8400 o I T
ATIBA—ATIZES P =
! 0
r ®C3 3]
D5
BAL: mm
J=f |DR047 |DROG4A |DROSO IDR110 IDR140 |DR200 |DR255
D1k 12 20 31.5 an a0 80 100
D2 20 31.6 50 63 80 125 140
D3 ns 28 40 B0 80 100 160 180
D4 rr A7 Bd 20 110 140 200 255
D5 67 79 109 135 168 233 280
D& 4=xM3Ix05P | 7xM5x0.8P TeMG=x1F 1MT=MExTP 11=xMEx125P (11 xM10x1.5P| 12 x M16 x 2P
D7 72 86 118 145 179 247 300
D8 k7 3 5 6 6 8 10 12
Da Bx34 Bx4.5 Bx55 8x55 12 % 6.6 12x9 16x13.5
D10 46,2 63.2 89,2 108.2 1382 1992 2542
L1 4 B 12 12 12 16 20
L2 B.5 8 13.5 13.5 17 22 5 30,5
L3 3 3 G 5] (5] 8 12
L4 19,5 19,5 30 29 a8 50 66
L5 7 7 10 10 14.6 15 20
L& 4 4 7 8 10 12 18
L8 107.5 126 172.5 201 263.5 3345 392
LS 4 6 7 Fi 7 10 10
L10 0.5 0.5 1 1 1 1 1
c14 46 70 100 130 165 215 235
cz2* M4 = 0.7P M5 x 0.8P MG x 1P ME x 1,25P M10x1.5P M12x1,75P | M12x1.75P
c3’ =11 =14/=16 =18/=24 =32 =38 = 48 =55
C4* 30 34 40 50 B0 a5 116
C5 *as 30 50 20 110 130 180 200
o 3.5 B 4 5 6 5 B
c7 4 48 &0 80 115 142 180 220
cs* 19,5 16 17 19.5 225 29 63
ca* 104,25 116.5 1595 199 245.5 316 398.5
c1o* 13.25 13.5 10.75 13 15 20.75 53.5
ci1# 74 81.5 107.5 134 164.5 2135 268.5




BRI R R~T

L2=2F% #i%tki=25~200F

L8
L4 L&
La L5 5
_L10x457) ]
cy
= 1
) ||
| || A
P U0 |t O] Lo |
slo|ejplsle|el M
) : |I
E | |
- I
| J |
awERTER _| 2| L2 | =
S0 8400 a 2 ! 'z
ADDS4—AD25ES O 5] i $
’ !
nic3 E;
o C5
B{E: mm
Rt |DR0O47 |IDROG4S |DRO90 IDR110 IDF140 |IDR200 |DR255
D1 wr 12 20 31.5 40 50 80 100
D2 20 315 50 63 B0 125 140
D3 28 40 B0 80 100 160 180
D4 "7 47 654 a0 110 140 200 255
D& G 79 108 135 168 233 280
D& 4xM3x05F | 7TxM5x08F TuMGx1F 11TxMEx1P (11 xMB x1,25F (11 xM10x15F| 12 x M16 x 2F
o7 72 BS 118 145 179 247 300
D& 1 3 5 & & 8 10 12
D10 8x3.4 Bx45 Bx 55 Bx5.5 12x6.6 12%9 16x%13.5
D12 46.2 63.2 8o0.2 108.2 139.2 189.2 254.2
L1 4 A 12 12 12 16 20
L2 6.5 8 13.5 13.5 17 22.5 30.5
L3 3 3 (5 3] 5 8 12
L4 19.5 19.5 30 29 38 50 66
L5 7 7 10 10 14,6 15 20
L 4 4 7 8 10 12 18
L& 122 132.5 163 217.5 269,5 3335 403
LS 1 5] 7 7 7 10 10
L10 0.5 0.5 1 1 1 1 1
iy [ 46 48 70 100 130 165 200
c2e M4 » 0.7P Md = 0.7F Md = 0.7P MG = 1P ME = 1.25FP M10 = 1.5P M12 x 1.75P
C3® =11 =11/=12 =14/=/15875<16 | =19/=24 =32 =28 =48
C4q * 30 30 34 40 50 &0 85
C5 "os 30 30 50 80 110 130 180
C6 *® 3.5 3.5 8 4 5 5] G
Y 48 48 B0 g0 115 142 190
c8*s 1985 19.5 16 17 19.5 22.5 29
co® 103,25 108,25 1285 166,5 209 269 .5 340
cio® 13.25 13.25 13.5 10.75 13 15 20.75
c11° 74 74 81.5 107.5 134 164.5 213.5

i T i e o
T




